107!

1072

107

ulPt
Std Dev 1.437
Constant 0.06507
| Mean -0.01078
E Sigma 1 186|
- UnpPt
r Std Dev 1.438
Constant 0.06506
Mean -0.01082

1074
i) C
T r .
m C Y
09\‘- . . . . . . .
10—8 6—4—20246810

[ pull of goverp parameter |

1072

107

over]
Std Dev 1.423
Constant 0.0646
Mean 0.0103
T SI ma 1.192

pu'ITQoverp
Std Dev 1.423

Constant 0.06458
Mean 0.01059

1.193

= 3
|||||||||

0 9“10 56

-4 -2 0 2 4 6 8 10

RECO

,:mjmmmumwuuume
e DQM_V0001_R000000001 _Global _mkFitOLD-checkDet12 _RECO

[ pull of @parameter |

pultPhT
Std Dev 1.308
B Constant 0.07136
=N ] Mean -0.003529
10°E h Sigma 1073
E pullPhi
I Std Dev 1.308
Constant 0.07137
o Mean -0.003379
Sigma 1.073
=1 0 T
10°E
-3
10

.L086420246810

[ pull of dxy parameter

107}

1072

Std Dev 1.281
Constant 0.07451
Mean -0.003761
E Sigma 1.025|
L _d_@v_
r Sid Dev T.281
Constant 0.07452
o Mean -0.003815
Sigma 1.024

107
9 LU0 :
I r :
o r : :
iy " iy
0.95F S SO SO SO
=10 8 6 4 -2 0 2 4 6 8 10

[ pull of B parameter |

107}

pullTheta
Std Dev 1.266
Constant 0.07346
Mean -0.02322
Sigma 1.04
H H H |
pullTheta
Std Dev 1.266
Constant 0.07344
Mean -0.02338
Sigma 1.04:

{ o -0 o

0.95,

[ pull of dz parameter

1086420246810

107}

Ratio

pulDz
Std Dev 1.442
Constant 0.07278
Mean 0.009797
Sigma 1.031

Constant
Mean
Sigma

| S

=10 8 6 4



	Contents
	Page 1


